Examinations '}} “‘ Jc%'ftlﬁ;af o Autumn 1998

from previous years CaLcuLUs || (SCIENCE)
(MATHEMATICS 201-NY B/oco)

1. Differentiateandsimplify: y = xarcsin(2z) + %\/ 1 — 4z2. 6. Determindf theseriess cornvergentor divergent. Namethetestused.Verify
o the conditionsof thetest.
2. Evaluatethefollowing six integrals.
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0 V4—1x2 (z+3)(z—1)2 7. Classifyeachseriesasdivergent,or absolutelycorvergent,or conditionally

corvergetn. Namethetestused.Verify the conditionsof thetest.

3. (a) Findthe sumof theareas < ( 1)”_1 < (_1yn

of theregionsR; andR3. (@) Z o (b) Z o1

(b) Setup— but do not eval- y=ots n=t 07 = O

uate — the integrals re-

quiredto find thevolumes
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8. Fortheseries
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let{S } bethesequencef its partialsums.

(i) R1 aboutthez-axis,
(i) Ro aboutthey-axis.

4 (a) FindSq, S2, S3, S4. (b) FindS,. (c) Findthesumof theseries.

9. Findtheintenal of cornvergenceof the power series
4. Evaluatethefollowing limits.
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5. D_ete_rmineif the improperintegral divergesor corverges; if it converges, 10. (a) (i) FindtheTaylorseriesfor f(z) = sinz aroundz = 0.
giveits value. (i) Write theseriesin X-notation.
5 dr o0 T (i) Findtheintenal of corvergence.
@ /1 z(lnz)? ®) /_oo 9+ 22 (b) Usingtheseriesfoundin (a), expandsin (z2) aroundz = 0.
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